gogoo

() 00000000000000000000

00000000000000000000000. 000000000000
0000000 Le000O0O0O00O0O0. 000000000,000000000
00000000000000000000000. pt=(emt0g00000
00000,(00000000000,mt00000000.0000 (L,m*)0
000000000000000000000000.000 LO10000000
0000.mtO00000 opposite 00000 m~ 00000 U(m™)000000,
000000 A4,0000 Uy(g)0 Um™)000000000 Uy(m™)00000
00000.000000000 (L,mY)00000000 fO00000 £,000
00. 0000000000 Le00000000O0000000

00,0000000 Le000O0O0O0O,A4,0 f,00000000.

(2) 00000000

(L,mT) 00000000 f000,000000000°%(0)0000 b(s)0,
LRO)ffT =b(s)ff00000000000.00b(s)0 fO0b00000.

00 (L,mT) 0600 b(s)0,0000 G/POOOOOOMOOO0000000O
00. POBorel00000,00000000 VermaOOODODO 5000000
0.00 Lie(P)=pt*000000000,g000 weight 0000 (L,m™)0 b0
0o0ooo0O00o0O00o00.

bs)= ] (su+p+msp+p+p)—(sp+p+mnsp+p+n),
nEW(u)\{u}

000 x00000000000 «a00000000 weight, We(u) 000 weight
p00000 000000000000 weightOOOOODO, pD0 g0OOO0ODO
goooodo.ogsooood VeemaOOODOOODODOOODOOOOOODODO
00000000000. 00,0000000000000000O0U(MNOOO
000D0ODODOb0O. OO0 CapelliO0DOOOOOoOOoOOO.

00 VermaOOOOOODOOD,000 (L,m*T)000 b0 0O by(s) O Laurent O
0000000000000000000. 0000 by(s)0

(sp+ptp,sp+p+p)—(sp+ptnsut+p+n)
by(s) = H [

2
neWt()\ {1} e a

0D00. 000 my0 (up—-n) =m%2 000000000, [, = =40
(a,a)

00. 00 b(s)0000, 0000000000 ¢®*0000000¢,=gq 2,
nezD. 0000 b(s)0 by(s) 00000000, 000000 VermaDOODOO
000 g¢g0000O000O000.




